Efficiency vs dr

x 0.02

<
9.018
d.016

&
®.014

=
9.012
0.01
0.008
0.006
0.004
0.002

1.9

Ratio

1
DQM_ttbarPU_mkFit_5iter
DQM_ttbarPU_mkFit_5iter_updatedPR111_update

_update_fixPropagation

[y
TTTT] T T

o
©
a

DQM_ttbarPU_mkFit_5iter_updatedPR111

1072

=
S
w

-1

[ Efficiency vs dr (track,jet) |

1
TP min AR

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

[y

Efficiency vs pu

1072

-1

5 0.0
o

9.009
3.008
(]

©®.007
=

%.006
0.005
0.004F
0.003
0.002

..................

..................

..................

..............................

..............................

..............................

L

0.001E-

Ratio

0.95
5

(@]




	Contents
	Page 1


